HEAD AND NECK EMBRYOLOGY PRACTICE QUESTIONS
1. _____ A neonate is examined and found to have a large cleft in the philtrum of the upper lip.  This condition arises because of failure of fusion of the 

A. maxillary and mandibular processes


B. maxillary and medial nasal processes


C. maxillary and lateral nasal processes


D. medial and lateral nasal processes


E. frontonasal process with medial nasal process. 
2._____ An 8 month old infant is brought to a physician working in a field hospital in Africa.  The mother of the child says the infant has difficulty swallowing and that food is expelled through the nasal cavity.  Upon examination, the physician finds a large cleft in the midline in the hard and soft palates and suspects that the infant developed with a Posterior Cleft palate.  The anatomical landmark that would be used to differentiate Posterior and Anterior cleft palate is the 

A. Greater palatine foramen.


B. Infraorbital foramen 


C. Incisive foramen

D. Mental foramen                      


E. Mandibular foramen        

3. _____ An infant has a continuous secretion of tears from the right eye.  MRI of the orbit appears normal and the lacrimal gland is not enlarged.  The physician suspects that the condition is resulting from obstruction of the nasolacrimal duct due to failure of canalization of the duct in development.  This prevents drainage of tears to the

A. Inferior meatus of the nasal cavity


B. Superior meatus of the nasal cavity


C. Bulla ethmoidalis of the nasal cavity


D. Infraorbital foramen


E. Maxillary sinus

4. _____ During a routine auditory test, a child is found have a severe conduction deficit in one ear.  High resolution CT scan of the tympanic cavity shows a complete agenesis of the stapes.  This condition could result from failure of formation of the stapes from the 

A. First branchial arch


B. Second branchial arch


C. Third branchial arch


D. Frontonasal process


E. First branchial pouch

5. _____ Treacher Collins syndrome is a genetic defect in which neural crest cells do not migrate appropriately into the First branchial arch.  Children with this syndrome often have hypoplasia of the


A. Frontal bone


B. Zygomatic bone


C. Mandible


D. Hyoid bone


E. Nasal septum

6. _____ Accidental removal of the parathyroid glands during thyroid surgery is the most frequent cause of hypoparathyroidism.   The parathyroid glands are typically located on the posterior surface of the thyroid or within the substance of the gland but their location is variable.  This variability is due to the multiple origin of the parathyroid glands from the

A. First and second branchial pouches


B. Second and third branchial pouches


C. First and third branchial pouches


D. Third and fourth branchial pouches


E. Second and fourth branchial pouches

7. _____ A teenage patient complains that he has a secretion from his neck every time he gets a cold.  Examination of the patient shows a small opening in the neck and swelling of the palatine tonsils.  The physician suspects that this condition has result from branchial fistula because the opening in the neck is

A. anterior to the Sternocleidomastoid muscle


B. in the midline of the neck above the hyoid bone


C. in the midline of the neck below the cricoid cartilage


D. posterior to the Sternocleidomastoid muscle


E. immediately superior to the sternal notch

8. _____ A young child who has difficulty swallowing is brought to a physicians' office for a second opinion.  Examination of the oral cavity shows a mass in the posterior tongue and the child has been scheduled for surgical removal of the mass.  The physician insists that further tests and scans be performed because the mass could be normal but ectopic tissue of the

A. submandibular salivary glands


B. thyroid gland

C. sublingual salivary glands

D. palatine tonsils


E. thymus gland
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